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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 
ªT ˆTˆ›Ã^ Yy ( 3rd Paper : Statistical Technique ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) ªJÙ_ EıÃ^ Y“EıÁÃ[˝ C ◊Eı ◊Eı ? =VÁc˜Ã[˝S ac˜„^Á„G ◊[˝◊\ˆ~ 

Y“EıÁ„Ã[˝Ã[˝ ªJÙ„_Ã[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 16 
 (F) %ÁV`Ô ac˜G◊Tˆ ]ÁY„EıÃ[˝ W˝]Ôm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

ac˜G◊Tˆ mSÁ·¯ EıÁ„Eı [˝„_ ? 14 + 6 
 (G) ◊X\ˆ¤Ã[˝„SÃ[˝ aep˚Á ◊VX* _◊Húˆ [˝GÔa]◊rÙ ◊X\ˆ¤Ã[˝S ÂÃ[˝FÁÃ[˝ 

W˝]Ôm◊_ Y“]ÁSac˜ =‰{F EıÃ[˝”X* 6 + 14 
 (H) aÃ[˝_ a]aïˆ[˝ X]«XÁ aeG–c˜ EıÃ^ Y“EıÁÃ[˝ C ◊Eı ◊Eı ? 

◊[˝◊\ˆ~ Y“EıÁ„Ã[˝Ã[˝˝ a]aïˆ[˝ X]«XÁ aeG–c˜ a+„EÔı 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 14 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) aïˆÁ[˝XÁ ◊X„[˝`X EıÁ„Eı [˝„_ ? Ac˜O Y“a„Ü X]«XÁ„·¯Ã[˝ 

Y“TˆÓÁ`Á C a]Eı }Á◊‹ôˆ W˝ÁÃ[˝SÁV«◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 
  4 + 8  
(F) Y“ÁEÀıEı_X Yà˘◊Tˆ Y“Eıî ◊[˝ªJÙÁÃ[˝ W˝ÁÃ[˝SÁm◊_ ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 
(G) A C B ^◊V V«◊ªRÙO HªRÙOXÁ c˜Ã^ Tˆ„[˝ Y“]ÁS EıÃ[˝”X  
 )()()()( BAPBPAPBAP ∪−+=∪  
(H) =VÁc˜Ã[˝Sac˜„^Á„G %Á„_ÁªJÙXÁ EıÃ[˝”X : 
 (i) Ê`“S› %‹ôˆÃ[˝, (ii) Ê`“S›-]W˝ÓEı, (iii) Ê`“S› Y“aÁÃ[˝, 

(iv) Y◊Ã[˝aeFÓÁ HX±ºˆ* 3 + 3 + 3 + 3 
(I¯) Y“]ÁS ◊[˝ªJ«ÙÓ◊TˆÃ[˝ W˝]Ôm◊_ Y“]ÁSac˜ ae„l˘„Y %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
(ªªJÙ˜) YÃ[˝&Ã[˝ [˝L¤XEıÁÃ[˝› HªRÙOXÁ (ME) C Y◊Ã[˝Y…SÔ m¨K˜ 

HªRÙOXÁ (MEx) W˝ÁÃ[˝SÁm◊_ =VÁc˜Ã[˝Sac˜ %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 6 + 6 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) Y“U] Y“EıÁÃ[˝ }Á◊‹ôˆ C ◊•Tˆ›Ã^ Y“EıÁÃ[˝ }Á◊‹ôˆ [˝_„Tˆ ◊Eı 

Â[˝Á„MıX ? 
(F) ◊•YV ◊X„[˝`„XÃ[˝ aep˚Á ◊VX A[˝e AÃ[˝ `Tˆ¤m◊_ 

◊_F«X*  3 + 3 
(G) AEı◊ªRÙO ◊XFg«Tˆ ]«V–Á„Eı V«[˝ÁÃ[˝ ªKg«˜QÕˆ„_ ◊XSÔÃ^ EıÃ[˝”X : 

(i) ◊PˆEı V«◊ªRÙO ]ÁUÁ YÁCÃ^ÁÃ[˝ aïˆÁ[˝XÁ EıTˆ ? 
(ii) %‹ôˆTˆf V«◊ªRÙO ]ÁUÁ YÁCÃ^ÁÃ[˝ aïˆÁ[˝XÁ EıTˆ ? 
  3 + 3  

(H) Â\ˆÁN˛Á„VÃ[˝ VÃ[˝ a…ªJÙEı EıÁ„Eı [˝„_ ? 
(I¯) ]ÁXy‘] ac˜G◊Tˆ mSÁ·¯ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
(ªJÙ) aÁ]Á◊LEı m¨K˜ C `…XÓm¨K˜ EıÁ„Eı [˝„_ ? 3 + 3 
(ªK˜) ÿëˆÁW˝›X HªRÙOXÁ EıÁ„Eı [˝„_, =VÁc˜Ã[˝Sac˜„^Á„G ◊_F«X*  
  3 + 3 
(L) Y“]ÁS EıÃ[˝”X AAP ,1)(0 ≤≤  c˜_ Â^ ÂEıÁX AEı◊ªRÙO 

HªRÙOXÁ* 
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1. Answer any two questions : 20 × 2 = 40 

(a) What are the different types of variables ? 
Discuss each type with example. 4 + 16 

(b) Discuss the properties of ideal measures of 
correlation. What is correlation coefficient ? 

  14 + 6 

(c) Define regression. Discuss the properties of 
ordinary last square regression with proofs. 

  6 + 14 

(d) What are the different types of simple 
random sampling ? Discuss the different 
types of simple random sampling. 6 + 14 

2. Answer any three questions  : 12 × 3 = 36 

(a) What is probability distribution ? Discuss, 
in this context, the concepts of Expectation 
and Standard Error. 4 + 8 

(b) Discuss the concepts of estimation and 
testing of hypothesis. 6 + 6  

(c) If A and B are any two events, then prove 
that )()()()( BAPBPAPBAP ∪−+=∪ . 

(d) Discuss with examples : 

 (i) Class interval, (ii) Class mark, (iii) Class 
width, (iv) Frequency density. 3 + 3 + 3 + 3 

(e) Briefly discuss the properties of standard 
deviation with proofs.  

(f) Discuss the concepts of mutually exclusive 
and mutually exhaustive events with 
examples. 6 + 6 

3. Answer any four questions  : 6 × 4 = 24 
(a) What do you mean by Type I error and  

Type II error ? 
(b) Define binomial distribution with its 

conditions. 3 + 3 
(c) An unbiased coin is tossed twice, then 

calculate — 
(i) Probability of appearing exactly two 

heads 
(ii) Probability of appearing at least two 

heads. 3 + 3 
(d) What is consumer price index ?  
(e) What is meant by random correlation 

coefficient ? 
(f) What are universal set and null set ? 3 + 3 
(g) What is independent event ? Discuss with 

example. 3 + 3 

(h) Prove that 1)(0 ≤≤ AP , where A is any 

event. 
    


